NDF110321MP09

## Louisville Metro Council City Agency Request

Neighborhood Development Fund (NDF)
 Capital Infrastructure Fund (CIF)
 Municipal Aid Program (MAP)
 Paving Fund (PAV)

<b>Amount:</b> \$1,642.00	Date: October 19	9, 2021
Description of program/project including location of project/program and any exte Grant to Parks for Luv It Landscaping to beautify and Peterson Avenue.	rnal grantee(s):	
City Agency: Metro Parks Contact Person: Jason Canuel		
<b>Agency Phone:</b> (502) 574-6086		
I have reviewed this request for an expendetermined the funds will be used for a product of the following departs of the	ublic purpose and have t	the attached
Bill Hollander	\$1,642.00	10/19/2021
District # Bill Hollander Council Member Signature	\$1,642.00 Amount	10/19/2021 Date
Approved by:  Clerk's Office & OMB Use Only:	Amount	
District # Council Member Signature  Approved by: Appropriations Committee Chait Clerk's Office & OMB Use Only: Request Amount:	Amount	Date
Approved by:  Appropriations Committee Chair  Clerk's Office & OMB Use Only:	Amount	Date
Approved by:  Appropriations Committee Chair Clerk's Office & OMB Use Only:  Request Amount:  Reference #: NDF110321MP09  Budget Revision #:	Amount irman  _ Amended Amount: To OMB:	Date
Approved by:  Appropriations Committee Char Clerk's Office & OMB Use Only:  Request Amount:  Reference #:  NDF110321MP09  Budget Revision #:  Account #:	Amount irman  Amended Amount:  To OMB:	Date
Approved by:  Appropriations Committee Character's Office & OMB Use Only:  Request Amount:  Reference #: NDF110321MP09  Budget Revision #:	Amount  irman  Amended Amount:  To OMB:  Completion Date:	Date

## NDF, CIF, MAP OR PAV INTERAGENCY CHECKLIST

Interagency Name: Metro Parks		
Program/Project Name: Grinstead Median Beautification		
	Yes/No/NA	
<b>Request Form:</b> Is the Request Signed by all Council Member(s) Appropriating Funding?	Yes	
<b>Request Form:</b> If matching funds are to be used, are they disclosed with account numbers in the request form description?	NA	
<b>Request Form:</b> If matching funds are to be used, does the amount of the request exclude the matching fund amount?	NA	
<b>Request Form:</b> If other funds are to be used for this project, are they disclosed with account numbers in the request form description?	NA	
<b>Funding Source:</b> If CIF is being requested, does Metro Louisville own/will own the real estate, building or equipment? If not, the funding source is probably NDF.	NA	
<b>Funding Source:</b> If CIF is being requested, does the project have a useful life of more than one year? If not, the funding source is probably NDF.	NA	
<b>Ordinance Required:</b> Is the NDF request to a Metro Agency greater than \$5,000? If so, an ordinance is required.	No	
<b>Ordinance Required:</b> Is the request a transfer from NDF to cost center? If so, is the amount given for the fiscal year \$25,000 or less?	No	
<b>Supporting Documentation:</b> Does the attachment include a valid estimate and description of cost?	Yes	

Submitted by: kyle Ethnidge Date: 10/19/2021

## Ethridge, Kyle

From:

Canuel, Jason T

Sent:

Tuesday, October 19, 2021 12:13 PM

To:

Ethridge, Kyle

Cc:

Hollander, Bill H.

Subject:

RE: Luv It Landscaping - Grinstead/Lexington

Yes, Parks will accept the funding.

Jason T. Canuel Assistant Director Louisville Parks and Recreation PO Box 37280 Louisville, Kentucky 40233

502/574.6086 (office) 502/439.7694 (cell) jason.canuel@louisvilleky.gov

----Original Message----

From: Ethridge, Kyle <Kyle.Ethridge@louisvilleky.gov>

Sent: Tuesday, October 19, 2021 9:14 AM

To: Canuel, Jason T <Jason.Canuel@louisvilleky.gov>Cc: Hollander, Bill H. <Bill.Hollander@louisvilleky.gov>Subject: FW: Luv It Landscaping - Grinstead/Lexington

Jason,

Would Metro Parks accept \$1,642 from D9 for Luv It Landscaping to add plantings to the median at Grinstead and Lexington?

Thanks,

Kyle

Ms. Kyle Ethridge | Legislative Assistant Office of Councilman Bill Hollander 601 W. Jefferson Street | Louisville, KY 40202 d: (502) 574-3908 o: (502) 574-1109

Click here to sign up for the bi-weekly District 9 weekly eNews, and sign up for the D9 blog for the latest neighborhood news and alerts!



## P.O. Box 17192 Louisville, KY 40217

We Don't Leave until you say you "Luv-It"

Bill To:
Bill Hollander
District 9
601 W Jefferson St

Louisville, Ky 40202

**Estimate** 

Number: E12998

Ship To:

10/18/2021

Bill Hollander District 9 601 W Jefferson St

Louisville, Ky 40202

Date:

Home Phone

Work Phone

_		***************************************	
	Description:	Amount	
	Landscape ( see attached )		
	8 dwarf Burning Bushes at 46.00 each	\$368.00	
	12 hydrangea at 44.00 each	\$528.00	
	3 grasses at 22.00 each	\$66.00	
	30 liríope at 9.00 each	\$270.00	
	40 Pinestraw at 9.00 each	\$360.00	
	1 ton large rock	\$50.00	
	Total includes all materials and Labor		

Total

\$1,642.00

-	
	All material is guaranteed to be as specified and the above work to be performed in accordance with the drawings and specifications submitted for above work and completed in a substantial workmanlike manner for the sum of \$
	Respectfully submitted
	Note: This proposal may be withdrawn by us if not accepted withindays.  Acceptance of Proposal - The above prices, specifications and conditions are satisfactory and are hereby accepted. You are authorized to do the work as specified. Payment will be made as outlined above.
	Date of Acceptance:Signature:

